Installation Guide

) Adjustable Extension Assembly I

P -

rlll ' ' m

WY

!
3/8"x1"Bolt ——— % % %

Flashing clamp VA — M\

==

Dome

Adjustable sleeve

Adjustable

Extension 3/8" x 1.5" Bolt i % i Min: 1.75"
Assembly ] Max: 4.0"
O-ring
Collar ——— ——= ———
Flat gasket

Q ]
Drain body —

Sump receiver
Recommended - Not Included

Underdeck clamp or Undermount kit
Recommended - Not Included

STEP 1: Position the flat gasket on the drain body, aligning the holes in gasket with the holes in the body.
Be sure the gasket area on the drain body is free of debris

STEP 2: Place collar on the gasket and align the holes in the collar with the holes in the gasket/body.

STEP 3: Secure the collar to the body with (3) 3/8" x 1.5" bolts. Tighten bolts in alternating pattern until
collar is secured evenly all around.

STEP 4: Carefully* clean/deburr the o-ring groove in the threaded ID of the collar. Insert the o-ring into the
groove. Lubricate the o-ring and internal collar threads completely with the lubricant provided.
* Threads and groove edges may be sharp. Wear gloves and eye protection.

STEP 5: Generously lubricate the first few threads of the adjustable sleeve. Thread the sleeve into the collar
and adjust to the required height. Do not exceed the Min/Max adjustment dimensions.

STEP 6: Confirm that the bolts are securely tightened.

STEP 7: Install waterproofing membrane over the top of, and to the inside diameter of the adjustable sleeve.
STEP 8: Install flashing clamp and secure with (3) 3/8" x 1" bolts.

STEP 9: Twist dome and lock into place.

SiOUXCh-Bf Sioux Chief Manufacturing Company | P:1.800.821.3944 | F:1.800.758.5950 | www.siouxchief.com



